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#### Biost 517: Applied Biostatistics I

#### Emerson, Fall 2009
#### Annotated Stata Log File: Homework #2
#### October 30, 2009
#### In this file I give the Stata commands I used to produce
#### the key to Homework #2. In order to properly format

#### a table useful to casual readers, I cut and pasted some

#### of the output into Excel.

#### Comments edited into the log file produced by Stata are

#### on the lines that start with the four ‘#’ signs and are

#### printed in italics.
#### The Stata commands are put in bold face.
#### Stata output is displayed in regular typeface in blue.
#### Read in data: The infile command was typed all on one line

. infile ptid mridate age male race weight height packyrs yrsquit alcoh physact chf chd stroke diabetes

> genhlth ldl alb crt plt sbp aai fev dsst atrophy whgrd numinf volinf obstime death using mri.txt
'ptid' cannot be read as a number for ptid[1]

'mridate' cannot be read as a number for mridate[1]

'age' cannot be read as a number for age[1]

'male' cannot be read as a number for male[1]

'race' cannot be read as a number for race[1]

'weight' cannot be read as a number for weight[1]

'height' cannot be read as a number for height[1]

'packyrs' cannot be read as a number for packyrs[1]

'yrsquit' cannot be read as a number for yrsquit[1]

'alcoh' cannot be read as a number for alcoh[1]

'physact' cannot be read as a number for physact[1]

'chf' cannot be read as a number for chf[1]

'chd' cannot be read as a number for chd[1]

'stroke' cannot be read as a number for stroke[1]

'diabetes' cannot be read as a number for diabetes[1]

'genhlth' cannot be read as a number for genhlth[1]

'ldl' cannot be read as a number for ldl[1]

'alb' cannot be read as a number for alb[1]

'crt' cannot be read as a number for crt[1]

'plt' cannot be read as a number for plt[1]

'sbp' cannot be read as a number for sbp[1]

'aai' cannot be read as a number for aai[1]

'fev' cannot be read as a number for fev[1]

'dsst' cannot be read as a number for dsst[1]

'atrophy' cannot be read as a number for atrophy[1]

'whgrd' cannot be read as a number for whgrd[1]

'numinf' cannot be read as a number for numinf[1]

'volinf' cannot be read as a number for volinf[1]

'obstime' cannot be read as a number for obstime[1]

'death' cannot be read as a number for death[1]

'NA' cannot be read as a number for alb[10]

'NA' cannot be read as a number for crt[10]

'NA' cannot be read as a number for plt[10]

'NA' cannot be read as a number for fev[11]

'NA' cannot be read as a number for aai[23]

'NA' cannot be read as a number for plt[28]

'NA' cannot be read as a number for dsst[31]

'NA' cannot be read as a number for dsst[45]

'NA' cannot be read as a number for dsst[47]

'NA' cannot be read as a number for dsst[52]

'NA' cannot be read as a number for aai[120]

'NA' cannot be read as a number for dsst[128]

'NA' cannot be read as a number for ldl[131]

'NA' cannot be read as a number for aai[150]

'NA' cannot be read as a number for fev[150]

'NA' cannot be read as a number for aai[154]

'NA' cannot be read as a number for ldl[159]

'NA' cannot be read as a number for dsst[166]

'NA' cannot be read as a number for ldl[174]

'NA' cannot be read as a number for plt[178]

'NA' cannot be read as a number for ldl[189]

'NA' cannot be read as a number for fev[197]

'NA' cannot be read as a number for fev[204]

'NA' cannot be read as a number for dsst[215]

'NA' cannot be read as a number for ldl[219]

'NA' cannot be read as a number for alb[219]

'NA' cannot be read as a number for crt[219]

'NA' cannot be read as a number for fev[230]

'NA' cannot be read as a number for fev[250]

'NA' cannot be read as a number for aai[255]

'NA' cannot be read as a number for ldl[262]

'NA' cannot be read as a number for ldl[268]

'NA' cannot be read as a number for fev[273]

'NA' cannot be read as a number for dsst[429]

'NA' cannot be read as a number for fev[434]

'NA' cannot be read as a number for aai[439]

'NA' cannot be read as a number for plt[456]

'NA' cannot be read as a number for volinf[461]

'NA' cannot be read as a number for dsst[474]

'NA' cannot be read as a number for aai[490]

'NA' cannot be read as a number for plt[505]

'NA' cannot be read as a number for ldl[507]

'NA' cannot be read as a number for aai[527]

'NA' cannot be read as a number for plt[529]

'NA' cannot be read as a number for packyrs[546]

'NA' cannot be read as a number for ldl[546]

'NA' cannot be read as a number for ldl[559]

'NA' cannot be read as a number for plt[559]

'NA' cannot be read as a number for dsst[588]

'NA' cannot be read as a number for aai[611]

'NA' cannot be read as a number for dsst[620]

'NA' cannot be read as a number for whgrd[650]

'NA' cannot be read as a number for fev[669]

'NA' cannot be read as a number for fev[683]

'NA' cannot be read as a number for dsst[723]

(736 observations read)
#### The above messages told me that missing data was created for the very first

#### line of the dataset (the “[1]” tells me it is the first line) for several

#### variables. This is due to the text labels for each column in the data file.

#### To verify that I do not want this line, I ask Stata to print out the first

#### row of data.
. list in 1

  1. | ptid | mridate | age | male | race | weight | height | packyrs | yrsquit | alcoh | physact |

     |    . |       . |   . |    . |    . |      . |      . |       . |       . |     . |       . |

     |--------------------------------------------------------------------------------------------|

     | chf | chd | stroke | diabetes | genhlth | ldl | alb | crt | plt | sbp | aai | fev  | dsst  |

     |   . |   . |      . |        . |       . |   . |   . |   . |   . |   . |   . |   .  |    .  |

     |-----------------------------------------------------------------------------+--------------|

     |    atrophy    |    whgrd    |    numinf    |    volinf     |    obstime     |    death     |

     |          .    |        .    |         .    |         .     |          .     |        .     |

#### We see that the first line has all missing values (indicated by “.”) for the

#### numeric variables. I want to drop this row from the dataset.
. drop in 1

(1 observation deleted)

#### Now I want to set up nice formats for the variables. I first look at the

#### range of values for each variable and then choose formatting that will

#### tend to provide 3 significant digits.

. summ

    Variable |       Obs        Mean    Std. Dev.       Min        Max

-------------+--------------------------------------------------------

        ptid |       735         368    212.3205          1        735

     mridate |       735    76422.93    31896.42      10192     123191

         age |       735    74.56599    5.451364         65         99

        male |       735    .4979592    .5003363          0          1

        race |       735    1.318367    .6659304          1          4

-------------+--------------------------------------------------------

      weight |       735    159.9499    30.74122         74        264

      height |       735    165.7774    9.710078        139      190.5

     packyrs |       734    19.60048    27.10821          0        240

     yrsquit |       735    9.661224    14.10029          0         56

       alcoh |       735    2.109365     4.85183          0         35

-------------+--------------------------------------------------------

     physact |       735    1.922335    2.052037          0     13.815

         chf |       735    .0557823    .2296571          0          1

         chd |       735    .3346939    .6862461          0          2

      stroke |       735    .2367347    .6207231          0          2

    diabetes |       735     .107483    .3099372          0          1

-------------+--------------------------------------------------------

     genhlth |       735    2.587755    .9382064          1          5

         ldl |       725    125.8028    33.60197         11        247

         alb |       733    3.994407    .2690478        3.2          5

         crt |       733    1.063984    .3029661         .5          4

         plt |       728    245.9849    65.79633         92        539

-------------+--------------------------------------------------------

         sbp |       735    131.1053    19.66325         78        210

         aai |       726    1.103246    .1828431      .3171     1.7284

         fev |       725    2.206817    .6874556      .4083      4.471

        dsst |       723    41.05671    12.70639          0         82

     atrophy |       735    35.98367    12.92294          5         84

-------------+--------------------------------------------------------

       whgrd |       734    2.006812    1.409849          0          9

      numinf |       735    .6108844    .9895317          0          5

      volinf |       734    3.222979     17.3628          0   196.9778

     obstime |       735    1804.075    392.2788         68       2159

       death |       735    .1809524    .3852409          0          1

.
#### I define appropriate formats

. format dsst ldl %9.1f

. format crt %9.2f

#### I save the file so I won’t have to do this again

. save mri
file mri.dta saved

#### Problem 2a: Checking for the earliest censoring time
. bysort death: tabstat obstime, stat(n mean sd min q max) 

-> death = 0

    variable |         N      mean        sd       min       p25       p50       p75       max

-------------+--------------------------------------------------------------------------------

     obstime |       602  1945.694  108.4126      1827      1857      1892      2067      2159

----------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------

-> death = 1

    variable |         N      mean        sd       min       p25       p50       p75       max

-------------+--------------------------------------------------------------------------------

     obstime |       133   1163.06  544.6901        68       728      1265      1643      2022

----------------------------------------------------------------------------------------------
. disp 1827/365.25

5.0020534
#### Generating the variable indicating four (or more) year survival
. g surv5yr= obstime/365.25

. recode surv5yr 0/5=0 5/max=1

(surv5yr: 735 changes made)
. table surv5yr

----------------------

  surv5yr |      Freq.

----------+-----------

        0 |        121

        1 |        614

----------------------

#### Problem 2b: Graphical and tabular descriptive statistics

#### Producing histograms. Note the way I forced the xaxis to always use the same

#### scale. Also note the way to place titles on the plots.

#### After getting the plots, I used cut and paste to put them in the Word document.

. hist dsst, bin(20) title(All Patients: DSST) xscale(range(0 100))

(bin=20, start=73, width=17.85)

. hist ldl, bin(20) title(All Patients: LDL) xscale(range(0 250))

(bin=20, start=0, width=5.4)

. hist crt, bin(20) title(All Patients: Creatinine) xscale(range(0 5))

(bin=20, start=0, width=5.4)

. hist dsst if surv5yr==0, bin(20) title(Patients Surviving < 5 yr: DSST) xscale(range(0 100))

(bin=20, start=73, width=16.15)

. hist ldl if surv5yr==0, bin(20) title(Patients Surviving < 5 yr: LDL) xscale(range(0 250))

(bin=20, start=0, width=2.75)

. hist crt if surv5yr==0, bin(20) title(Patients Surviving < 5 yr: Creatinine) xscale(range(0 5))

(bin=20, start=0, width=2.75)

. hist dsst if surv5yr==1, bin(20) title(Patients Surviving > 5 yr: DSST) xscale(range(0 100))

(bin=20, start=78, width=17.6)

. hist ldl if surv5yr==1, bin(20) title(Patients Surviving > 5 yr: LDL) xscale(range(0 250))

(bin=20, start=0, width=5.4)

. hist crt if surv5yr==1, bin(20) title(Patients Surviving > 5 yr: Creatinine) xscale(range(0 5))

(bin=20, start=0, width=5.4)

#### I intend to just execute two commands to get all the numeric descriptive

#### statistics: I will use “tabstat” to get everything but the geometric mean

#### Because I can use the mean of a binary variable to get the proportion, I
#### first create the dichotomized variables.

. g lodsst= dsst
(47 missing values generated)

. recode lodsst min/30=1 30/max=0
(hichol: 4953 changes made)

. g hildl= ldl
(67 missing values generated)

. recode hildl min/150=0 150/max=1

(hicrp: 4505 changes made)

. g hicrt= crt
(67 missing values generated)

. recode hicrt min/1.4=0 1.4/max=1

(hicrp: 4505 changes made)

. format lodsst hildl hicrt %9.3f

#### Now to get most the numeric descriptives

. tabstat dsst ldl crt lodsst hildl hicrt, by(surv5yr) stat(n mean sd min q max iqr r) col(stat) format

Summary for variables: dsst ldl crt lodsst hildl hicrt

     by categories of: surv5yr 

 surv5yr |         N      mean        sd       min       p25       p50       p75       max       iqr

---------+------------------------------------------------------------------------------------------

       0 |     115.0      34.6      12.5       8.0      26.0      34.0      43.0      76.0      17.0

         |     119.0     118.7      36.2      11.0      96.0     117.0     142.0     227.0      46.0

         |    121.00      1.22      0.47      0.50      0.90      1.10      1.30      4.00      0.40

         |   115.000     0.409     0.494     0.000     0.000     0.000     1.000     1.000     1.000

         |   119.000     0.176     0.383     0.000     0.000     0.000     0.000     1.000     0.000

         |   121.000     0.190     0.394     0.000     0.000     0.000     0.000     1.000     0.000

---------+------------------------------------------------------------------------------------------

       1 |     608.0      42.3      12.4       0.0      34.0      41.0      50.0      82.0      16.0

         |     606.0     127.2      32.9      39.0     103.0     127.0     148.0     247.0      45.0

         |    612.00      1.03      0.25      0.50      0.90      1.00      1.20      1.90      0.30

         |   608.000     0.158     0.365     0.000     0.000     0.000     0.000     1.000     0.000

         |   606.000     0.229     0.421     0.000     0.000     0.000     0.000     1.000     0.000

         |   612.000     0.064     0.244     0.000     0.000     0.000     0.000     1.000     0.000

---------+------------------------------------------------------------------------------------------

   Total |     723.0      41.1      12.7       0.0      32.0      40.0      50.0      82.0      18.0

         |     725.0     125.8      33.6      11.0     102.0     125.0     147.0     247.0      45.0

         |    733.00      1.06      0.30      0.50      0.90      1.00      1.20      4.00      0.30

         |   723.000     0.198     0.399     0.000     0.000     0.000     0.000     1.000     0.000

         |   725.000     0.221     0.415     0.000     0.000     0.000     0.000     1.000     0.000

         |   733.000     0.085     0.278     0.000     0.000     0.000     0.000     1.000     0.000

----------------------------------------------------------------------------------------------------

 surv5yr |     range

---------+----------

       0 |      68.0

         |     216.0

         |      3.50

         |     1.000

         |     1.000

         |     1.000

---------+----------

       1 |      82.0

         |     208.0

         |      1.40

         |     1.000

         |     1.000

         |     1.000

---------+----------

   Total |      82.0

         |     236.0

         |      3.50

         |     1.000

         |     1.000

         |     1.000

--------------------

#### Now to get the geometric means

. bysort surv5yr: means ldl crt
----------------------------------------------------------------------------------------------------

-> surv5yr = 0

    Variable |    Type        Obs        Mean       [95% Conf. Interval]

-------------+----------------------------------------------------------

         ldl | Arithmetic     119    118.6975        112.1338   125.2611 

             |  Geometric     119    112.0114        104.5384   120.0187 

             |   Harmonic     119    100.8036        87.63048    118.638 

-------------+----------------------------------------------------------

         crt | Arithmetic     121    1.215702        1.130292   1.301113 

             |  Geometric     121    1.147947        1.082489   1.217363 

             |   Harmonic     121     1.09226        1.034376   1.157006 

-------------+----------------------------------------------------------

----------------------------------------------------------------------------------------------------

-> surv5yr = 1

    Variable |    Type        Obs        Mean       [95% Conf. Interval]

-------------+----------------------------------------------------------

         ldl | Arithmetic     606     127.198         124.571    129.825 

             |  Geometric     606    122.8254         120.207   125.5008 

             |   Harmonic     606    118.2436        115.5259   121.0922 

-------------+----------------------------------------------------------

         crt | Arithmetic     612    1.033987        1.014496   1.053478 

             |  Geometric     612     1.00578        .9871429   1.024769 

             |   Harmonic     612    .9783199         .960187    .997151 

-------------+----------------------------------------------------------

. means ldl crt
    Variable |    Type        Obs        Mean       [95% Conf. Interval]

-------------+----------------------------------------------------------

         ldl | Arithmetic     725    125.8028        123.3527   128.2528 

             |  Geometric     725    120.9813        118.4262   123.5916 

             |   Harmonic     725    114.9785        111.1931   119.0307 

-------------+----------------------------------------------------------

         crt | Arithmetic     733    1.063984        1.042015   1.085953 

             |  Geometric     733    1.027972        1.008972    1.04733 

             |   Harmonic     733    .9954617        .9775813   1.014008 

-------------+----------------------------------------------------------

#### Problem 3:

#### Because I will find it easiest to get the desired difference by altering

#### the the lowest creatinine value among the long survivors to make it a very high value,

#### I want to identify the subject with the lowest creatinine among long survivors (there

#### may be more than 1 subject tied at the lowest value—I will just choose one).

. list ptid dsst ldl crt surv5yr if surv5yr==1 & crt==0.5
     +--------------------------------------+

     | ptid   dsst     ldl    crt   surv5yr |

     |--------------------------------------|

298. |  230   29.0    95.0   0.50         1 |

346. |  206   55.0   150.0   0.50         1 |

     +--------------------------------------+
#### Problem 3a:

#### I need to increase the mean creatinine in the long survivors by 1.22-1.03 + 1, in order

#### to meet my goal. As there are 612 long survivors with available crt, then I increase the one

#### measurement by at least 612 * (1.23 – 1.02 + 1) (note that I want to account for roundoff in

#### the summary statistics 

. replace crt=612 * 1.21 + 0.5 if ptid==230
(1 real change made)

. list ptid crt if ptid==230
     +---------------+

     | ptid      crt |

     |---------------|

298. |  230   741.02 |

	


. tabstat crt, by(surv5yr) stat(n mean sd min q max) col(stat) format

surv5yr |         N      mean        sd       min       p25       p50       p75       max

---------+--------------------------------------------------------------------------------

       0 |    121.00      1.22      0.47      0.50      0.90      1.10      1.30      4.00

       1 |    612.00      2.24     29.91      0.50      0.90      1.00      1.20    741.02

---------+--------------------------------------------------------------------------------

   Total |    733.00      2.07     27.33      0.50      0.90      1.00      1.20    741.02

------------------------------------------------------------------------------------------

. bysort surv5yr: means crt
-> surv5yr = 0

    Variable |    Type        Obs        Mean       [95% Conf. Interval]

-------------+----------------------------------------------------------

         crt | Arithmetic     121    1.215702        1.130292   1.301113 

             |  Geometric     121    1.147947        1.082489   1.217363 

             |   Harmonic     121     1.09226        1.034376   1.157006 

------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------

-> surv5yr = 1

    Variable |    Type        Obs        Mean       [95% Conf. Interval]

-------------+----------------------------------------------------------

         crt | Arithmetic     612    2.243987       -.1306397   4.618614 

             |  Geometric     612    1.017851        .9895792    1.04693 

             |   Harmonic     612    .9814557        .9631877    1.00043 

------------------------------------------------------------------------

#### Just for fun, I consider a t-test to compare the “statistical significance”

#### between the two means. Note that adding this extreme outlier changed the

#### sample mean drastically, but it also changed the standard deviation by

#### even more, making my estimate less precise. Hence, I do not have a

#### statistically significant difference between the means (more on this

#### later in the quarter).

. ttest crt, by(surv5yr)
Two-sample t test with unequal variances

------------------------------------------------------------------------------

   Group |     Obs        Mean    Std. Err.   Std. Dev.   [95% Conf. Interval]

---------+--------------------------------------------------------------------

       0 |     121    1.215702    .0431381    .4745187    1.130292    1.301113

       1 |     612    2.243987    1.209166    29.91313   -.1306397    4.618614

---------+--------------------------------------------------------------------

combined |     733    2.074243     1.00955    27.33254    .0922832    4.056203

---------+--------------------------------------------------------------------

    diff |           -1.028284    1.209936                -3.40441    1.347841

------------------------------------------------------------------------------

    diff = mean(0) - mean(1)                                      t =  -0.8499

Ho: diff = 0                     Satterthwaite's degrees of freedom =  612.551

    Ha: diff < 0                 Ha: diff != 0                 Ha: diff > 0

 Pr(T < t) = 0.1979         Pr(|T| > |t|) = 0.3957          Pr(T > t) = 0.8021

#### Problem 3b: (see key for discussion of rationale)

. display 2.15^612
2.83e+203

. replace crt= 2.15^612 if ptid==230
(1 real change made, 1 to missing)
#### I exceeded the ability of the computer to represent a number

#### I need to do everything on the log scale

. g logcrt = log(crt)

. replace logcrt = log(0.5 * (2.15 / 1.15)^612) if ptid == 230
. tabstat logcrt, by(surv5yr) stat(mean)

Summary for variables: logcrt

     by categories of: surv5yr 

 surv5yr |      mean

---------+----------

       0 |  .1379751

       1 |  .7723636

---------+----------

   Total |  .6676419

--------------------

. display exp(0.1379751), exp(.77263636)

1.147947 2.1654677

#### Problem 3c:

#### If we can only change one value, the median can only change to at most the next lowest

#### or next highest value. The question is how many values are tied at the median for each

#### group.

. tabulate crt surv5yr, col row cell

+-------------------+

| Key               |

|-------------------|

|     frequency     |

|  row percentage   |

| column percentage |

|  cell percentage  |

+-------------------+

           |        surv5yr

       crt |         0          1 |     Total

-----------+----------------------+----------

      0.50 |         1          1 |         2 

           |     50.00      50.00 |    100.00 

           |      0.83       0.16 |      0.27 

           |      0.14       0.14 |      0.27 

-----------+----------------------+----------

      0.60 |         2         14 |        16 

           |     12.50      87.50 |    100.00 

           |      1.65       2.29 |      2.19 

           |      0.27       1.91 |      2.19 

-----------+----------------------+----------

      0.70 |         6         49 |        55 

           |     10.91      89.09 |    100.00 

           |      4.96       8.02 |      7.51 

           |      0.82       6.69 |      7.51 

-----------+----------------------+----------

      0.80 |        12         87 |        99 

           |     12.12      87.88 |    100.00 

           |      9.92      14.24 |     13.52 

           |      1.64      11.89 |     13.52 

-----------+----------------------+----------

      0.90 |        11         96 |       107 

           |     10.28      89.72 |    100.00 

           |      9.09      15.71 |     14.62 

           |      1.50      13.11 |     14.62 

-----------+----------------------+----------

      1.00 |        14        107 |       121 

           |     11.57      88.43 |    100.00 

           |     11.57      17.51 |     16.53 

           |      1.91      14.62 |     16.53 

-----------+----------------------+----------

      1.10 |        17         79 |        96 

           |     17.71      82.29 |    100.00 

           |     14.05      12.93 |     13.11 

           |      2.32      10.79 |     13.11 

-----------+----------------------+----------

      1.20 |        14         59 |        73 

           |     19.18      80.82 |    100.00 

           |     11.57       9.66 |      9.97 

           |      1.91       8.06 |      9.97 

-----------+----------------------+----------

      1.30 |        14         54 |        68 

           |     20.59      79.41 |    100.00 

           |     11.57       8.84 |      9.29 

           |      1.91       7.38 |      9.29 

-----------+----------------------+----------

      1.40 |         7         26 |        33 

           |     21.21      78.79 |    100.00 

           |      5.79       4.26 |      4.51 

           |      0.96       3.55 |      4.51 

-----------+----------------------+----------

      1.50 |         6         20 |        26 

           |     23.08      76.92 |    100.00 

           |      4.96       3.27 |      3.55 

           |      0.82       2.73 |      3.55 

-----------+----------------------+----------

      1.60 |         4         10 |        14 

           |     28.57      71.43 |    100.00 

           |      3.31       1.64 |      1.91 

           |      0.55       1.37 |      1.91 

-----------+----------------------+----------

      1.70 |         2          5 |         7 

           |     28.57      71.43 |    100.00 

           |      1.65       0.82 |      0.96 

           |      0.27       0.68 |      0.96 

-----------+----------------------+----------

      1.80 |         3          3 |         6 

           |     50.00      50.00 |    100.00 

           |      2.48       0.49 |      0.82 

           |      0.41       0.41 |      0.82 

-----------+----------------------+----------

      1.90 |         3          1 |         4 

           |     75.00      25.00 |    100.00 

           |      2.48       0.16 |      0.55 

           |      0.41       0.14 |      0.55 

-----------+----------------------+----------

      2.10 |         1          0 |         1 

           |    100.00       0.00 |    100.00 

           |      0.83       0.00 |      0.14 

           |      0.14       0.00 |      0.14 

-----------+----------------------+----------

      2.40 |         1          0 |         1 

           |    100.00       0.00 |    100.00 

           |      0.83       0.00 |      0.14 

           |      0.14       0.00 |      0.14 

-----------+----------------------+----------

      2.60 |         1          0 |         1 

           |    100.00       0.00 |    100.00 

           |      0.83       0.00 |      0.14 

           |      0.14       0.00 |      0.14 

-----------+----------------------+----------

      3.20 |         1          0 |         1 

           |    100.00       0.00 |    100.00 

           |      0.83       0.00 |      0.14 

           |      0.14       0.00 |      0.14 

-----------+----------------------+----------

      4.00 |         1          0 |         1 

           |    100.00       0.00 |    100.00 

           |      0.83       0.00 |      0.14 

           |      0.14       0.00 |      0.14 

-----------+----------------------+----------

     Total |       121        611 |       732 

           |     16.53      83.47 |    100.00 

           |    100.00     100.00 |    100.00 

           |     16.53      83.47 |    100.00 

